(007 1

)

2004 2006

( 16 18

)

1
2)
S
4)

1

2)

60

3

4)

(137 265thr)

478

5mm

1

08 09

2t/hr)
81 88%

0.7 08

4 5t/10a

4 Skg/l0a

110

382

100

522

126

100

(3
83%

1560mPa s

QY

80 521

100

2thr

697



532 30 -
oy o =
_|||:| . AA
I 1 25 t
=
~N
-
20 |
15 &7 y = 0.1345x - 94413
R?=0.8867
Ir_a-\: 1.0 1 1 1 J
e 80 82 84 86 88 90
T3]
.
2
cm
™ NH,-N P,05 K,0
0.4 - 0.4 0.8
B) 0.4 0.7 1.0
- 0.8 0.9 1.0
- 0.7 0.8 1.0
1) NHe-N/TN  60%
2)
80 100
1 2 3 1 2(
270 135 90 270 135 270 11
1,927.2 1,927.2 1,927.2 2,409.0 2,409.0 66kg/
7.1 14.3 214 8.9 17.8
963.6 963.6 963.6 1,204.5 1,2045 /hr
36 71 10.7 45 89
1543484 ¢ 771,742 514,495 1,543,484 771,742 1543484 =
1,069,072 ; 1,069,072 i 1,069,072 | 1,336,290 : 1,336,290
1,774,062 i 887,031 591,354 1,774,062 887,031 1,774,062 +
— 1,179,563 : 786,375 — 1,179,563 | 2,359,125 =+
— 51,215 34,143 — 51,215 102,429 =+
206,336 206,336 206,336 219,648 219,648 832
28,619 28,619 28,619 35,774 35,774
584,000 584,000 584,000 730,000 730,000 kg/ kg 10
— 6,000 6,000 — 6,000 2,000
5205573 | 4783578 | 3,820,394 | 5639258 | 5217,263
65,070 59,795 47,755 56,393 52,173
750 697
940 60 80 261 100 285 80 327 100 356
183 65 80 81 100
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